12U T & Fv T VA

1-2
& A
ARG & A
75
$]AE)
13-16
PN | PNE
60 5-6
=5
60
SR KEE B
63 60 7-8
KE
Sl 9-12
1-8 R
9-10
£ H
sl &%
80 62 11-12
&%
5-8
&%
60 | 13-14
#MAF)
IR $®HARGF)
60 76(5) 15-16
HH
IR 1-4

5 Yy

11

12 KB

EH

ot
s

i
&

W

%

P
mE

13 gnR F7

14 $nR

15

16 $iftM

FL

(B.I.TENNIS)

bye

(F D)

(AAC)

(AAC)

(BF 1)

(for—kranz)

(AAC)

(B.L.TENNIS)

(AAC)

bye

(T7/%=TA)




L2RUTEF T INVA

1-2
1E5 iR
64 3-4
&5
29-32
&
64 5-6
&5 FATK
61 7-8
K
AH(E) 25-28
9-10
&% Fik
75 11-12
Fik
21-24
EE
60 13-14
T FE ()
61 15-16
FEFCIR)
[RH 17-20
1-8
17-18
FH
62
ERRK
19-20
fE” K
13-16
fn&
62 21-22
T H 0k
60 62 23-24
Jogk
H 9-12
25-32
25-26
FH TH
61 27-28
FE
5-8
1k it
62 29-30
ik %k
62 61 31-32
k%
TEEGEE) 1-4

1 gnA HEF

3 WY 4R
4 Vg BRI
5 FH ik

8 P Eif
9 EB K
10

11

12 g st
13 feze R HilfsE
14

15

16 A EBIE
17 8 s

18

19

20 FEF R
PANGL: S
22 1H e
23

24 Y wAh
25 fTH K
26

27

28 MK B
29 Vel

30 TR B

32 BRH BN

(AAC)

bye
(77v%=TA)
(for—kranz)
(77/%=TA)
bye

bye
(for—kranz)
(for—kranz)
bye

bye
(77v%=TA)
(AAC)

bye

bye
(770%=TA)
(770%=TA)
bye

bye
(for—kranz)
(AAC)
(7/%=TA)
bye
(for—kranz)
(for—kranz)
bye

bye
(77/%=TA)
(AAC)
(770%=TA)
bye

(AAC)




14ZU T B F TR

(KB DHER
B+

1-2
TH 2H
62 3-4
TH
13-16
B
60 5-6
E+E a3
63 7-8
aH
A+ 9-12
1-8
9-10
)
T
1-12
T
5-8
T IR
62 13-14
UV
T RN
62 60 15-16
iR
= 1-4

1) IRV

3 MR B

4 HH mK

5 Fit-fR Fhisk

8 ot MK

9 AH A

10

11

%

12 )83
13 /M LR
14 £/ 3

15

16 & FKE

(for—kranz)

bye

(AAC)

(AAC)

(T7/%=TA)

bye

bye

(AAC)

(AAC)

bye

bye

(AAC)

(AAC)

(for—kranz)

bye

(AAC)




